
Week 4, Fall 2014. Dr. Yoder. 

CS2910 Paper Quiz 2      Name: 

Consider the following HTTP response… (This is the reassembled TCP stream)  You may wish to 

mark locations on this response as you answer the questions below. 

 
…  …  … 

 

1. (2 points) Write the complete status line: 

 

 

2. (4 points) Fill in the names and values of the header fields: (There may be extra space in the 

table) 

Field name Field value 
  
  
  
  
  
 

3. (1 points) The byte at index 0x0010 has value 0x0a.  Write that this byte is one of a carriage 

return or a line-feed.  Explain how you reached your answer. 

 

 

 

4. (1 points) Write the hexadecimal index of the first byte after the headers (That is, the first 

byte of the entity body).  Explain how you selected this byte. 

 

 

 

5. (1 point) Write the number of data bytes in the first entity body chunk. Explain how you 

selected this number. 

 

 

 

6. (1 point) Write the contents of each data byte in the first entity body chunk, using a 

hexadecimal representation for each byte. Explain how you determined these contents. 


